Sr Questions Answers Choice
A. <p
class="MsoNormal">1500W<o:p>
</o:p></p>
B. <p
1 Power of electric heater is: i'f‘?s‘ MsoNormal*>4750W<o:p>
0:p></p>
C. <p class="MsoNormal">100W<o:p>
</o:p></p>
D. <p class="MsoNormal">50W<o:p>
</o:p></p>
A. <p
class="MsoNormal">Copper<o:p>
</o:p></p>
B. <p class="MsoNormal">Iron<o:p>
2 Which of the following is an insulator: </o:p></p>
C. <p class="MsoNormal">Silk<o:p>
</o:p></p>
D. <p class="MsoNormal">Silver<o:p>
</o:p></p>

A. <p class="MsoNormal">1.7<o:p>
</o:p></p>

B. <p class="MsoNormal">2.75<0:p>
</o:p></p>

C. <p class="MsoNormal">5.25<0:p>
</o:p></p>

D. <p class="MsoNormal">1.69<o0:p>
</o:p></p>

3 Specific resistance of aluminium in (1 08 Q.m)is:

A. <p
class="MsoNormal">1.7x10<sup>-
8</sup> Q.m<o:p></0:p></p>

B. <p
class="MsoNormal">2.63x10<sup>-
8</sup> Q.m<o:p></o:p></p>
C.<p
class="MsoNormal">2.75x10<sup>-
8</sup> Q.m<o:p></0:p></p>

D. <p
class="MsoNormal">7.0x10<sup>-
8</sup> Q.m<o:p></0:p></p>

4 Specific resistance of silver is:

A. <p class="MsoNormal">Power<o:p>
</o:p></p>

B. <p
class="MsoNormal">Resistance<o:p>
</o:p></p>

C.<p
class="MsoNormal">Current<o:p>
</o:p></p>

D. <span style="font-size:11.0pt;line-
height:107%; font-
family:&quot;Calibri&quot;,sans-
serif;mso-ascii-theme-font:minor-
latin;mso-fareast-font-family:
Calibri;mso-fareast-theme-font:minor-
latin;mso-hansi-theme-font:minor-latin;
mso-bidi-font-family:Arial;mso-bidi-
theme-font:minor-bidi;mso-ansi-
language: EN-US;mso-fareast-
language:EN-US;mso-bidi-
language:AR-SA">Voltage</span>

5 A parallel circuit is also used as a divider for:

A. <p
class="MsoNormal">Generator<o:p>
</o:p></p>

B. <p class="MsoNormal">Solar
L cell<o:p></o:p></p>

6 Which is not an e.m.f source: C.<p
class="MsoNormal">Battery<o:p>
</o:p></p>
D. <p
class="MsoNormal">Rheostat<o:p>
</o:p></p>
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Inliquids and gases the current is due to the motion of:

Which is the best material for making connecting wires:

Thermocouples convert:

Nichrome wire is an alloy of:

Resistance of a wire of conductor of 2 Q) resistance is doubled:

A 3Q resistor having 2A current will dissipate the power of:

A. <p class="MsoNormal">Negative
charges<o:p></0:p></p>

B. <p class="MsoNormal">Positive
charges<o:p></0:p></p>

D. <p class="MsoNormal">None of
these<o:p></o:p></p>

A. <p class="MsoNormal">Iron<o:p>
</o:p></p>

C.<p
class="MsoNormal">Tungsten<o:p>
</o:p></p>

D. <p class="MsoNormal">Nickel<o:p>
</o:p></p>

B. <p class="MsoNormal">Heat energy
into light energy<o:p></o:p></p>

C. <p class="MsoNormal">Heat energy
into mechanical energy<o:p></o:p>
</p>

D. <p class="MsoNormal">Chemical
energy into electrical energy<o:p>
</o:p></p>

A. <p class="MsoNormal">Lead and
zinc<o:p></o:p></p>

B. <p class="MsoNormal">Silver and
copper<o:p></0:p></p>

D. <p class="MsoNormal">Iron and
copper<o:p></o:p></p>

B. <p class="MsoNormal">6 Q<o:p>
</o:p></p>

C. <p class="MsoNormal">8 Q<o:p>
</o:p></p>

D. <p class="MsoNormal">10 Q<o:p>
</o:p></p>

B. <p class="MsoNormal">4W<o:p>
</o:p></p>
C. <p class="MsoNormal">6W<o:p>
</o:p></p>
D. <p class="MsoNormal">8W<o:p>
</o:p></p>



